ORDER #005362



Events Enchanted THE STEINLAUF FAMILY 2200 GUNDRIE AVENUE LOS ANGELES, CA 90034

Order Date: December 13, 2024

Due Date: Upon Receipt

PO: Shipping Address: Sheraton Universal Hotel 333 Universal Hollywood Dr, Universal City, CA 91608

EVENT DATE: DECEMBER 22ND, 2024

INSTALL (ALL) SUNDAY AT 6 AM

PICK UP: SUNDAY NIGHT AT 11PM (MUST BE OUT BY 4AM)

Description		Qtty	Price		Total
CHUPAH AREA					
	GREEN ASTRO TURF 36FT WIDTH X 26FT LENGHTFT *SIZE CONFIRMED BY TALI & HOTEL*	1	\$1,150.00	Т	\$1,150.00
	WHITE Carpet Cover for Riser, 12ft x 16ft *STAGE FROM HOTEL*	1	\$384.00	Т	\$384.00
	STEP COVERED IN WHITE CARPET	1	\$55.00	Т	\$55.00
	WHITE Carpet Aisle Runner, 50FT X 8FT **CONFIRM GROUND LEVEL-NO STAGE* *	1	\$875.00	T	\$875.00
	CLEAR INFINITY CHAIRS WHITE CUSHIONS	290	\$6.00	Т	\$1,740.00
	Patio Lava Heaters	12	\$125.00	Т	\$1,500.00
	PROPANE	12	\$27.00	Т	\$324.00
		-	Total CHUPAH AREA		\$6,028.00
TISH					
	WHITE SHANTUNG 8FT DRAPES	10	\$28.00	Т	\$280.00
			Total TISH		\$280.00
BADEKIN AREA					
	Carpet Cover for Stage, 12FT x 24FT BADEKIN AREA STAGE PROVIDED BY THE CLIENT	1	\$605.00	Т	\$605.00
	STEP COVERED IN WHITE CARPET	1	\$55.00	Т	\$55.00
	Aria Sofa, Off White 8' (FOR BRIDE) **NO GOLD = PLEASE COVER ALL WHITE**	2	\$350.00	Т	\$700.00

Description		Qtty	Price		Total
	Aria Arm Chair, Off White (FOR FAMILY) **NO GOLD = PLEASE COVER ALL WHITE**	1	\$150.00	Т	\$150.00
	WHITE VELVET PILLOWS (FOR SOFA + ARMCHAIRS)	6	\$0.00	Т	\$0.00
	Los Angeles Bar, White - 8ft	1	\$250.00	Т	\$250.00
	Dior Back Bar, Silver	1	\$225.00	Т	\$225.00
T F	Tulip Serpentine Dining Table, Silver "SETS" 2-SETS FOR SUSHI/1-CARVING/1-STICKY BUNS/1-SOUP	5	\$650.00	Т	\$3,250.00
	WHITE 8FT SHANTUNG LINENS (BACK BARS) 1-SUSHI/1-CARVING	3	\$29.00	Т	\$87.00
		Total BADEKIN AREA		REA	\$5,322.00
HALLWAY/LOBE	BY AREA				
	Sofia Crystal Communal Table	2	\$200.00	Т	\$400.00
poc-so goc-so faces	Sofia Crystal Dining Table - Rectangle	2	\$250.00	Т	\$500.00
	Los Angeles Bar, White - 8ft	1	\$250.00	Т	\$250.00
	Dior Back Bar, Silver	1	\$225.00	Т	\$225.00
		Total HALLWAY/LOBBY AREA		REA	\$1,375.00
BALLROOM ARI	EA				
T	Lucite Dining Table, 4FT X 8FT	6	\$350.00	Т	\$2,100.00
	Lucite Dining Table, 4FT X 8FT	1	\$350.00	Т	\$350.00
	Napoleon Dining Chair, Clear (FOR LONG TABLES) *WHITE CUSHIONS*	65	\$6.00	Т	\$390.00

Description		Qtty	Price		Total
A	Ghost Dining Chair, Clear (FOR ROUND TABLES)	240	\$8.00	Т	\$1,920.00
	White Dance Floor, 36FT X 30FT	1	\$3,250.00	T	\$3,250.00
	WHITE CARPET 12FT X 24FT COVER *STAGE PROVIDED BY HOTEL*	1	\$650.00	T	\$650.00
	WHITE LAMOURE NAPKINS *FOR ROUND TABLES*	305	\$2.75	Т	\$838.75
	MELODIA CLEAR WINE GLASS	305	\$2.95	Т	\$899.75
	24FT X 12FT FABRIC BACKDROP WITH PULLBACKS	1	\$195.00	Т	\$195.00
	MELODIA WATER GOBLET, INDIGO TINT	105	\$2.95	Т	\$309.75
	Melodia Water Goblet, Indigo Tint	200	\$2.95	Т	\$590.00
	SILVER SCALLOPED GLASS CHARGERS	305	\$5.00	Т	\$1,525.00
	Los Angeles Bar, White - 8ft	2	\$250.00	Т	\$500.00
	SILVER Monet Back Bar	2	\$200.00	T	\$400.00
		Total BALLROOM AREA			\$13,918.25
ADDITIONS					
	DJ BOOTH, WHITE	1	\$250.00	Т	\$250.00
			Total ADDITIO	NS	\$250.00
Services	Trucking Fee	2	\$275.00	T	\$550.00
	INSTALLATION FEE	8	\$240.00	'	\$1,920.00
	Event Breakdown Fee	8	\$240.00		\$1,920.00
	LABOR FOR STANDBY	3	\$175.00		\$525.00
Notes		Total Products: Total Labor/Services/Misc: Taxes (tax excempt):		isc:	\$27,173.25 \$4,915.00 \$0.00
			Discour	nts:	(\$0.00)
			To Paymer	tal: nts:	\$32,088.25 (\$28,600.00)
			i ayılıcı		(420,000.00)

Balance: \$3,488.25